becm_an_us:Eniry$

pDCM_an_us

100

80

60

40

[
¥

20

III|III|III|III|III|III|III'|'

0 5n ; 100
run7805 000 bem an us.png

150 200 250 300 350 400 450

x10°
Entry$

8000

7000

6000

5000

4000

3000

2000

1000

bcm_an_us {ErrorFlag==0]}

- Entries 171998
- Mean 143.6
— StdDev  0.5211
: | | L1 I | | 1 1 1 | I I L 1 1 |
141 142 143 144 145 146
bcm_an us

asym_bcm_an_us/ppm:pattern_number {ErrorFlag==0}

1500

- X

| oo o

[ et s et o
1000 frr< 7 # A }”"HM ﬁ}‘:”"}‘ AAX
EDDE— 1

-500

—-1000

—-1500

(| I
T

I

I F E—

: | }
| i }
| M }
T}

3
[ )]

= % %% L %}}E}E x ;{;—-—-55:;::?%5{ Lyl 1
- x XX G XX X% % % 5 x x
i % %5 x X

o bt X *

- x

II|IIII|IIII|IIII|IIII|IIII
0 10000 20000 30000 40000 50000 60000 70000 80000

pattern_number

asym_bcm_an_us

B Entries 42933
140'3'_ Mean —0.6351+ 1.673

i Std Dev 346.6
‘IEDD_—

= Underflow 0
1000

— Overflow 0
800
600
400~
2001

_IJ_ III|IIII|IIII|IIIIiI_|I

—‘PSDD —-1000 500 0 500 1000 1500
ppm




becm_an_ds:Eniry$

pCmM_an_ds

100

80

60

40

20

III|III|III|III|III|III|III'|'

0

[
¥

50 1

00

"
E I

¥ 3

11

L]

X

k|

:lil

1|

"l

Y

£

) »

1

i

150 200 250 300 350 400 450
Entry$

run7805 000 bem an ds.png

x10°

8000

7000

6000

5000

4000

3000

2000

1000

bcm_an_ds {ErrorFlag==0}

evilree

- Entries 171998
— Mean 143.6
— Std Dev  0.5187
: | | L1 | I I | 1 1 1 | I I | | 1 |
141 142 143 144 145 146
bcm_an ds

asym_bcm_an_ds/ppm:pattern_number {ErrorFlag==0}

1500
: %
i % %
z w5 % % 5% x4
1000 == o O CT.TTT "'__Tj’i?_’i "3_“9’*_:"' 3_“9{_3_3{3_5{ AT .
5001 }
Dé = - EEEEE = . =
~500 -
1000« % Llu wwx % wldsxs  LIwg L
y 55 % gxxx W WS o y
i Yo owT BR S x X
S %
- %
- %
—1500
|||||||||||||||||||||||||||||||||||||||
0 10000 20000 30000 40000 50000 60000 70000 80000

pattern_number

asym_bcm_an_ds

B Entries 42933
1400 B Mean —0.4991+ 1.668
1200 B Std Dev 3456

: Underflow 0
1000—

: Overflow 0

800
600
400~
200
__I L1 L 11 1 | | I | | I I | | I L.l 1 1
—1500 -1000 500 0 500 1000 1500
ppm




bcm_an ds3: Entry$ bcm_an_ds3 {ErrorFlag==0} asym_bcm_an_ds3/ppm:pattern_number {ErrorFlag==0 asym_bcm_an _ds3

~ 160 = 1500 Entries 42933
3" 3000 evtlree ; H :
= 140" P E _ » S vl 5 . 1400 — Mean -0.5006 + 1674
E| - | § 7000 Entries 171998 1000 . At __?f:ff}{__}{§ _ETLE LK _E X B
8 i A - 1NN T [ | | 1200 Std Dev 346.8
1201 | ¢ jiie 4 P8 6000 Mean 143.8 [ -
- i R | N 500+ i Underflow 0
100 12 |1 - I 1000
B 13 5000 — Std Dev 0.5219 [ 1 ol 1] B Overflow 0
. Al N 0k s HHEE . -
4% (% (43 — | N BUD_
80— | ¢ ¢ 4000 — I H | HH H H -
e 3000]- 500 600F-
a0l | BEEE ERE - R I A A R RN AR A AR 400~
- iR RE OB (FM P | 20001 —1000 =< xo Ldlw wxxx x Llwwmmx x4 L i
B g2 |2l | L : B - O # %x}::ﬁ: i %}:é}{:ﬁ: # B
| 1§ MR B | - B 5% i % % s % -
20— : | | 1000 - v s ~ 200
i HE B B N B
- | ‘ N ~1500 — -
.; H‘IUS D_lll IIII||||||IIII |||| _|||||IIII|IIII|IIII|I||||||II|IIII|IIII __II ||||||JII|IIII|IIIIIJL|
0 50 100 150 200 250 300 350 400 450 141 142 143 144 145 146 0 10000 20000 30000 40000 50000 60000 70000 80000 -17500 -1000 500 0 500 1000 1500
Entry$ becm an ds3 pattern_number ppm

run7805 000 becm an ds3.png



bcm0|02:EntrY$ bcm0|02 {Errnglag:: } asym_bcm0I02/ppm:pattern_number {ErrorFlag==0} asym_bcm0|02

= Entri 42933
% 180 22000 thTree - y - ntries
£ s A1 - 1500~ - Mean  2.445+ 1.603
S {e0l 20000 Entries 171998 S N o 1400
B 18000 1000 B p K ¥ X THTHHHK N P s - Std Dev 332.1
140 [ | T (513 : ! E Mean 170.2 i_““ [T [ _§i -"“—-"_'ﬁﬁ ] _-%_" ] N ] 1200 B
§ 121 : | 16000 L | | B Underflow 1
- 1: [ [E | ;| - 500+ i
120— $ 4 I 1000—
- : | 14000 = Std Dev 2.98 | i Overflow 1
sol_ |1 Wik i | 10000 - -
: - 8000 ! 5001 600~
60— - 1| ] LI L L 10 i
i PP ERR N 6000 ‘ 000 E55T XE i ok S RdETR s sl 400
40— s HE B[ | : | - = x B X ox% T 43¢
- b 4000 - x S -
- 11 ' - '_ % 200
20— 1l 2000 MVJ 1500 . " I
4. 1 d H‘IUS Dzll_.-"l'lﬂTL'-Lllllllllllllll |||||||| _III||||||||||||||||||||||||||||||||||II __IIIIIIII||||||||||||||| L1 1
0 50 100 150 200 250 300 350 400 450 145 150 155 160 165 170 175 0 10000 20000 30000 40000 50000 60000 70000 80000 -1500 1000 500 0 500 1000 1500
Entry$ bcmO0I102 pattern_number ppm

run7805 000 bem0I102.png



bGITI_d g_u S. E r'ltl‘y$ me_d g_us { ErrorFl d(== } asym_bcm_dg_us/ppm:pattern_number {ErrorFlag==0} asym_bc m_d g_us

«w 160 = 1500 Entries 42933
3 0L 6000 evilree - . i
o i
S 4o . 8 v % B VialE ” 1400~ Mean —0.5046 + 1684
£ | : i Entries 171998 1000k + 25 1 mxropan x¥ X550 T .
8 i 3 5000~ [T T 7T |1 | 12001 Std Dev 348.9
1201~ ; | £ - Mean 143.3 [ i
- : &E i 500 H B Underflow 0
100 -f ' 4000 — : 1000
o i : otd Dev 0.7187 | e[ B Ovarflaw 0
i B Dé = S1s)=ls = Bﬂﬂ_—
801~ ii 3000~ § H H H H H i
60} I 500 [ 600
i 2000 ! i
40— ‘ : NI N A e e 400
B S P B 1000 = xx xlx gmloex gx WK dLwx i
- iz 8 8 | & | - ¢ K 5 g W WX o 3 %
Il 1 5 | 1000 — 8 5% ¥ BX ¥ U S ;{ -
20— E & : - B N b b 200 |
_ 1R B i o _
- | 1 - ~1500— -
D_ . :":1“3 _IIIIIIII|IIII|IIII||III|III|I _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _II IIII|IIII|IIII|IIII L1 |
0 50 100 150 200 250 300 350 400 450 40 141 142 143 144 145 146 0 10000 20000 30000 40000 50000 60000 70000 80000 —105DD -1000 -500 0 500 1000 1500
Entry$ bcm_dg us pattern_number ppm

run7805 000 bem dg us.png



bGITI_d g_ds . E r'ltl‘y$ me_d g_ds { Errﬂ I'Fl ag == } asym_bhcm_dg_ds/ppm:pattern_number {ErrorFlag==0} asym_bc m_d g_ds

«w 160 1500 Entries 42933
[ — — | |
8 _ evtiree _ x _
S 4o ; 5000 8 SIS VialE 7 1400~ Mean 04895 + 1678
E - | I Entries 171998 1000F=x1 ixranr X oxx Cx]EwaX X0 T -
i - (T TT TTIT TITTT T TIT 1200 Std Dev 347.6
120~ : 281 4000 — Mean 143.4 [ i
n ; a ] ; | 5004 1000 | Underflow 0
100~ gg - StdDev  0.813 ; i i - Overtion 6
30 B 3000 B 0 i H = HE = H . == Bﬂﬂ:—
- - | 600
o0 i 2000~ -500 -
B S EE : | ! - 1000 =% x=x A Lxd  x wtdlw omx dxd - i
- BEE L § | 1000 ¢ Xx X % % X000C X X i
20 |F Gt & ' i i x x 200
i a4 i y :
- (1] 1 I ~1500 -
D_ : H‘IUS |II||IIII|IIII|IIII|IIII|II |II _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _II IIII|IIII|IIII|IIIIIIL|
0 50 100 150 200 250 300 350 400 450 Ql-d 141 142 143 144 145 146 0 10000 20000 30000 40000 50000 60000 70000 80000 —‘PSDD -1000 500 0 500 1000 1500
Entry$ bcm_dg ds pattern_number ppm

run7805 000 bem dg ds.png



becm_an_diff:Entry$ bcm_an_diff {ErrorFlag==0} asym_bem_an_diff'yield_bem_an_diftpatiem_number (ErorFlag==0} asym_bcm_an_diff

= — [ [ Enlries 42933
= = 0.006 o o B
o -] u - v e _ Mean —4.092e-08 + 1.069e-07
N e I P I Entries 171998 L o COK x o x :
5 - T 1 1 5000 __ 0.004 %_:?E “:fi %;%_}}:}i%}i ifi}i ] E{E{%{ggg_ “" ] T 2.5 _— Std Dev B.14e—07
0.2~ i Mean -0.002331 | T T T -
B — | : LInderllow 2.156a+04
0.1 Hot " 4000~ 0.002 - o[ .
~ T ] u Std Dev  0.008733 I [ B Owverflow 2.134a+04
0k i i || :
- . - -0.002 - i
0.2 2000 — g 1 A | — _ _ _ |
o3f | [ - D004 s o 3EEE |l :
- ' 1000— ARSI R A XEX X ;ﬁ% v 0.5H
0.4 ) i SO X % %5 -
- . - -0.006 | y i
_|_':'|5_III|IIIIil'llII2|F|IIII|IIII|IIII3"|IIII|IIII|IIII|I'.:"";."I':.‘l3 -|IIII| III|IIII|IIII|IIII|III I I | _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D_I I|III|||| |1 ] | ] [ I|llL-_ll||||||| III'.-""‘;.'.II:.‘I_FE
0 50 100 150 200 250 300 350 400 450 —0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0 10000 20000 30000 40000 50000 60000 70000 80000 -1 -08 06 04 -02 0 02 04 06 08 1
Entry$ bcm an_ diff pattern_number ppm

run7805 000 becm an diff.png



1500

1000

500

-500

-1000

-1500

¥ [ ndf 120.2 /74

PO -0.1456 + 0.1062

p1 1£0.0
® _I L 1 1 | L 1 1 1 | L 11 1 | L 1 1 1 | L 11 1 | I 1 1 1 |
—1500 -1000 -500 0 500 1000 1500

asym bcm an us/ppm:asym bcm an ds/ppm {ErrorFlag==0}

1500

1000

500

-500

-1000

—1500

—1500

asym bcm an us/ppmiasym becm an ds/ppm {ErrorFlag==0}

-1000

run7805 000 asym bcm an us vs asym bcm an ds mul.png

—500

0 500 1000

1500
asym_bcm_an_ds/ppm

1600

1400

1200

1000

800

600

400

200

asym_bcm an us/ppm-asym_bcm an ds/ppm {ErrorFlag==0}

—

mulTree

Entries
Mean

otd Dev

42933

-0.1359

20.01

IJ_II

-
=l
O

60 -40

20 0 20 40 60 80

asym_bcm_an_us/ppm-asym_becm_an_ds/ppm

80

60

40(

3 & &

&
=
D_| T || |H§i<j{'i I i 11T 1T 17
I

-100

20}

asym_bem_an_usppm-asym_boem_an_ds/ppmipattern_number {ErrorFlag==0}

ey

|
{ W W

1K

e

| W W

| R

{

| W0
| HH

ke
a4

| R
| W

E W

I | B
I
i ]

I I
I I
I
L
I I
| VI
: I }
N |
i }
]
[
1]

e
| W

II|IIII|IIII|IIII|IIII|IIII
10000 20000 30000 40000 50000 60000 70000 80000

pattern_number



asym_bem_an_usppm:asym_bem_an_ ds3/ppm {ErrorFlag==0} asym_bem_an_us/ppmiasym_bem_an ds3/ppm {ErrarFlag==0} asym_bem_an_us/ppm-asym_bem_an_ds3/ppm {ErrorFlag==0} asym_bem_an_usippm-asym_bem_an_ds3pprm-pattern_number {ErrorFlag==0}

; 1500 1800 g 100
1500, X"/ ndf 119.5/73 I - mulTree & T y
- - @ 80
0 -0.09761 + 0.1031 - — - g "Uh .
P 976 0 318 1000 — 1EDD_ Entries 42933 :| ;::;::}{}{ . }{i L g w
i _ o 60 1 = N [
1000] P 0-9969 *0.0003 - 1400 Mean —0.1344 El ?g T ] _}’iw}}é_}’i%?’i }}E}’i }{f}"ﬁ}{ i
N i B £ - B
B 500~ : StdDev  19.32 9 40
500 i 1200F : d- e
i i i & 20l
i 0 1000 £ -
i - a -
- - 800 — = [
i ~500— - c -20f
—o00~ i 600 eI l
- - Z 8 40+
u = o | 11 NN 111
| -1000— 400— E % ol Bt }{}{-—g}{x%{x}: Lo Ly
~1000~ i B @ 60 L L et gk kL
| | - L ox X 20K %
200— [ X * Mo MM
| i - 80— * s
- —1500— - -
-1500— - B B
IIII|IIII|IIII|IIII|IIII|IIII| I|IIII|IIII|IIII|IIII|IIII|IIII DIII]_IIi II|III|III|III|III|II II|III IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-1500 -1000 -500 0 500 1000 1500 -1500 -1000 -500 0 500 1000 1500 -80 60 40 20 0 20 40 60 80 100 0 10000 20000 30000 40000 50000 60000 70000 80000
asym_bcm_an_ds3/ppm asym_bcm_an_us/ppm-asym_bcm_an_ds3/ppm pattern_number

run7805 000 asym bcm an us vs asym bcm an ds3 mul.png



asym_bem_an_ds/ppm:asym_bem_an_ ds3/ppm {ErrorFlag==0} asym_bem_an_ds/ppm:asym_bem_an ds3/ppm {ErrarFlag==0} asym_bem_an_ds/ppm-asym_bem_an_ds3/ppm {ErrorFlag==0} asym_bem_an_dsippm-asym_boem_an_ds3pprm-pattern_number {ErrorFlag==0}

1500 = £ =
2 = — _
i500| %2/ ndf 96.44 /73 _ 1800¢ mulTree g s S
u K g -
0 0.03695 + 0.05861 N C . (7] B A L s -
P 1000 1600 Entries 42933 E' §2§§ X% §§ XEx %X 255?’5%%{ §§ ;
- N a 2000717 (TT- TTTT TTHITETT 17T ]
1000 _ p1 0.9955 £ 0.0002 - 12001 Mean 0.001487 El : _
|— B U -
i 500 — : _ 2 1of
500 i 1200 Std Dev 7.962 e 10 |
i - N & [ '
| — B ".F i
! oL 1000 — E_ OF EH HHHH H H H3
D [ B : ..,ugi- :—
- i 800 g I ! -
- 500 : 5 T
00 T 600 e
i i a 8 _oolk 11 L L 11 1 )
| — | 111 |5 L 111 4 4
| i 400— E b N XX g}{%}{ §x%>{>{ --M;Eim rﬁ + %
. B -1000 | - > - o0 KW X RS WH MM
1DUD | *,.J" | [P j] | O e e
i i B T _a3pl— P X ¥ b
B _ 200— - # & x
i - : B % x
_‘ISDD_ I 11 1 | I 11 | | L1 1 1 | L 11 1 | L 11 1 | I I | _.IEDD_I | I I | 11 | | I I | I 11 | | I I | I 11 1 D_llj_lj_ll l IIII|IIII|IIII|IIII l I|_LIII _4U_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-1500 -1000 -500 0 500 1000 1500 -1500 -1000 -500 0 500 1000 1500 -40 -30 -20 -10 0 10 20 30 0 10000 20000 30000 40000 50000 60000 70000 80000
asym_bcm_an_ds3/ppm asym_bcm_an_ds/ppm-asym_bcm_an_ds3/ppm pattern_number

run7805 000 asym bcm an ds vs asym bcm an ds3 mul.png



1500

1000

500

-500

-1000

-1500

asym_bcm dg us/ppm:asym bcm dg ds/ppm {ErrorFlag==0}

¥ / ndf
p0

p1

1241 /74
-1.583 + 0.224

0.9807 + 0.0005

1500 -1000 -500 0
run7805 000 asym bcm dg us vs asym bcm dg ds mul.png

1500

1000

500

-500

-1000

—1500

asym _bcm_dg us/ppm:asym_bcm dg ds/ppm {ErrorFlag==0}

-1500 -1000 -500 0 500 1000 1500

asym_bcm_dg_ds/ppm

asym bcm dg us/ppm-asym_bcm dg ds/ppm {ErrorFlag==0}

1800

1600

1400

1200

1000

800

600

400

200

D I

mulTree

Entries

otd Dev

42933

Mean -0.0151

46.62

||||JIII

—200 -150 -100 -50

0

50

100 150 200 250
asym_bcm_dg us/ppm-asym_becm_dg_ ds/ppm

200

uu_u i FF. nn

150

i 501

. 100§

asym_bem_dg_usppm-asym_bem_dg ds/ppmepattern_number {ErrorFlag==0}

gigg §§ xxiiﬁiggﬁiiﬁ K§§§x;§§ §§ ;3
0 W Bl o

[ 1
60000 70000 80000
pattern_number



asym_bem_dg_usppm:iasym_bem_an_ ds3/ppm {ErrorFlag==0} asym_bem_dg_ us/ppmiasym_bem_an ds3/ppm {ErrarFlag==0} asym_bem_dg_ us/ppm-asym_bem_an_ds3/ppm {ErrorFlag==0} agym_bem_dg_us'ppm-asym_bem_an_ds3ppm:pattern_number {ErrorFlag==0)

- 1500 - : 200r
1500| X/ ndf 99.21/73 - : mulTree b b - o
- 1600 ) -
0 0.04024 +0.20934 - - : ) 150" SV, P L™
p 1000~ ; A BRI e e PO s L
| i - 2 LT WX T -
1000| p1 0.9974 +0.0006 B 14““__ Mean -0.004014 :I ‘IDDE_—“““ T TITTsTTTTT - T1 TTZTT N -
i i Z : I i ]
i 500~ 1200 Std Dev 42.41 ) !
500 N B - 50 I
u i B ) 1
|— | B : | | 1
- ol 1000 : -
0 B B Y 0 "
- i 800— ] _
_ - B | g i
i -500— i ;50
~500— - 600 — : 1
| i 3 I
i : I
- B B | =100HL | L L 1 11
- ~1000[- 00r L PRooar Ty Balt, weadt T
—‘IDDD_— i - ; 15[13{ g }{% % ¥ i% g é}{ ::x:§ }:%
- 1500~ r S L ’
~1500— T ! B
IIII|IIII|IIII|IIII|IIII|IIII| I|IIII|IIII|IIII|IIII|IIII|IIII D—[Illll I|IIII|IIII|IIII|IIII|II||IIJI| _EDUIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-1500 -1000 -500 0 500 1000 1500 -1500 -1000 -500 0 500 1000 1500 200 -150 -100 50 O 50 100 150 200 0 10000 20000 30000 40000 50000 60000 70000 80000
asym_bcm_an_ds3/ppm asym_bcm_dg_us/ppm-asym_bcm_an_ds3/ppm pattern_number

run7805 000 asym bcm dg us vs asym bcm an ds3 mul.png



1500

1000

500

-500

-1000

-1500

¥2 / ndf 110.5/ 74

p0 -0.02128 + 0.21076

p1 1.001+ 0.001
__IIII|IIII|IIII|IIII|IIII|IIII|
—1500 -1000 -500 0

asym bcm dg us/ppm:asym bcm an ds/ppm {ErrorFlag==0}

1500

1000

500

-500

-1000

—1500

—1500

asym bcm dg us/ppmiasym becm an ds/ppm {ErrorFlag==0}

-1000 500 0 500 1000

run7805 000 asym bcm dg us vs asym bcm an _ds mul.png

1500
asym_bcm_an_ds/ppm

1800

1600

1400

1200

1000

800

600

400

200

0

asym bcm dg us/ppm-asym_bcm an ds/ppm {ErrorFlag==

0}

mulTree

Entries

Mean

Std Dev

42933

—0.005501

42.81

|
00 -150 100 -50 O 50 100

N

150 200

asym_bcm_dg us/ppm-asym_becm_an_ds/ppm

200
[ b
A o s s S s
150 [ L g}: o O A e HE
[ 3 A L . . R > >
ST TL TR PO e e 5
100 (- T '
50
D_ H HHH H : EH HHH HH HH
50 - }
100 - il 1
T E L i i i L i S T S E E B L __}{
HEa B & R A -
150 & MM " b § ;{}% b
[+ b i
| X s s
_EDU_IIII|IIIII><IIII|IIII|IIII|IIII|IIII|IIII
0 10000 20000 30000 40000 50000 60000 70000 80000

asym_bem_dg_usppm-asym_bem_an_ds/ppmipattern_number {ErrorFlag==0}

pattern_number



asym bcm dg ds/ppmiasym bcm an us/ppm {ErrorFlag==0} asym bcm dg ds/ppmiasym bem an us/ppm {ErrorFlag==0} asym bcm dg ds/ppm-asym_bcm an us/ppm {ErrorFlag==0} asym_bem_dg_ds/ppm-asym_bem_an_Levppmipatiern_numter {ErratFlag==0}

1500 :
2/ ndf 1. i - L i
is00| X 1.894e+04 /73 ! ra00F- mulTree x 150~ y
-+ = - . 3 [ X X
PO 4.427 +0.156 1000 mm: Entries 42933 5| ! ; xxox }ﬁx; o
mnn_p1 1.038 £ 0.000 - B Mean 0.1455 :I ‘IUUE“% X3 _%ﬁﬁ%{}{ﬁﬁiﬁ g%x }{gi}{}ﬁ% xg x
i 500 1400~ ! T - T '
B B N Std Dev 31.66 : 50
>001 I 1200 ) |
| D_ : L B
o - O ; D%HH HHHHHHHHHHHHHH HHHHHHHH HH H
i - B | i
- | n
- 5001 BDD: |
500 - B 501
>00r i 600 4 > I
i - N | L -
i ~1000 - . % L il Lusocluge o w@2 gmgl| xx
| ; 400 1
~10001- S : 00 o FECE B Rl E
B B B R s s o
B 1500 200 L < ’ s §
- — - N L b
—1500— 200¢ - —150—
| IIII|IIII|IIII|IIII|IIII|IIII| I|IIII|IIII|IIII|IIII|IIII|IIII DIlJ_III III|IIII|IIII|IIII IJ_I|I IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-1500 -1000 -500 0 500 1000 1500 -1500 -1000 -500 0 500 1000 1500 -150 -100 -50 0 50 100 150 0 10000 20000 30000 40000 50000 60000 70000 80000
asym_bcm_an_us/ppm asym_bcm_dg ds/ppm-asym_becm_an_us/ppm pattern_number

run7805 000 asym bcm dg ds vs asym bcm an us mul.png



yield_bcm_an_us:pattern_number {ErrorFlag==0} yield_bcm_a n_us { Erro I'Flag ==D} asym_bem_an_us/ppm:pattern_number {ErrorFlag==0} asy m_bcm_an_usf ppm { Error Flag == D}

1455 - htemp - 2200~ PairTree
= 4000 4000 - B Tul -
1450 - Entries 85905 T Tl T X _ 2000 Entries 85905
% 3500 3000 H [ ) [ B 1 _ 1800
144.5 N Mean 143.6 2000l 7 N Mean -0.6127
3000 | L L l 1600
144} | ; i { | AL | i
B | - Std Dev  0.4838 1000 i b LmmTL L (L] | 1400 Std Dev 1346
1435 2500 — - -
| E D%EES HEEOEHE0EEEREE8H BRRBBREE all=ls 120':':_
1431 2000~ : | (L 1 1000~
- —~1000 | Y UET TR THTTL 171 -
142,50 . 1500~ 0 LT ‘ } - T | w T 800
- ; - 2000 1 -
n - ) - i - 600
142 :— ' 1000 — i 1 - }{_ E
(4150 4 - —3000 i - » 400
D[ - - N w4 - X u
- - 11 ] | 1 -
- 200 —4000 [ - |7 200
141 - - -
IIII|II II|IIII|IIII D |LI |III|IIII|IIII L1 | 1 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII Dlllll |I I|I |IIII|IIII|IIII|IIII|II |III
10000 60000 70000 80000 141 142 143 144 145 0 10000 20000 30000 40000 50000 60000 70000 80000 000-3000-2000-1000 0 1000 2000 3000 4000
pattern_number yield bcm_an_us pattern_number asym_bcm_an_us/ppm

run7805 000 pairTree bcm an us.png



yield_bcm_an_ds:pattern_number {ErrorFlag==0} yield_bcm_a n_dS { Errﬂ I'Flag ==D} asym_hcm_an_ds/ppm:pattern_number {ErrorFlag==0} asy m_bcm_an_dsf ppm { Error Flag == D}

- 4500 h - - -

3 : temp : 2200 PairTree
145.5 - 4000 i -
- - = T X T -

: 40001 Entries 85905 T LT I+ TTT ST - 2000~ Entries 85905
145 :— E 3000 _ i TITUIT ] -
o 3500 ; e 1800~

14458 - Mean 143.6 2000 [ | T 1600E- Mean  -0.4729
Lk 3000 i nd L I | -
144 HE§ B 1000 il L | L LT il n

" :-- I B Std Dev 0.4813 [ | LU (AT 1l |l | 1 1400 — Std Dev 1345
ko 29500 Z i "
143'53 ° - 0HEHE HeEHOodEHHHEEEEHER HaRRaREE Heu =ls 1200
143 1 2000 A{a{(atniail | L 1000~
28 r - -1000 || UT I FTUT L 111 n
142,50 1500 - HUT (K } T I 800
- - —2000 - 1 .
142 1000 30000 . E - :
141 5:— : - - - “ “ § ~ ot 4001
Sl | - S S S R Yl L N
- 5 >00 —4000 L . 200
141— - n C

||||||| ||||||||| D |LI I||||||||||||I L1 1 1 ||||||||||||||||||||||||||||||||||||||| Dllll |||||||||||||||||||||||||||||II|I |||||
10000 00 70000 80000 141 142 143 144 145 0 10000 20000 30000 40000 50000 60000 70000 80000 —-4000-3000-2000-1000 O 1000 2000 3000 4000
pattern_number yield bcm_an_ds pattern_number asym_bcm_an_ds/ppm

run7805 000 pairTree bcm an ds.png



yield_bcm_an_ds3:pattern_number {ErrorFlag==0} yield bcm_an_ds3 {ErrorFlag==0} asym_bcm_an_ds3/ppm:pattern_number {ErrorFlag==0} asym_bcm_an_ds3/ppm {ErrorFlag==0}

146 . h i .

- temp : 2200 PairTree
1455 | 5 4000 4000 - i - :

' : - : SR I R I S T7 _ 2000 :

' - Entries 85905 i 17~ i : Entries 85905
145 3500 n 3000 in - ] - B - _ 1800F-

| - Mean 143.8 1 : - Mean -0.4752
1445 30000 2000(H | [ w l 1600

144} 2500 Std Dev  0.4845 10004 (1 rndl Ik LALaLHLE (ST (1] L 1400 StdDev 1349
; n%gss SEHOEEEHEEEEREE] BRERRREE a0 HA 12':":':_
i 2000 : | I | [ | 1000}~
143§ ¥ - —1000 {~ ] i TH T 17 -
L 1500 1 (|| } IOy T1 - 800
1425 - —2000 1| | T -
n " i - 600
a0k 1000 ' i x | -
- - —3000 - i - 15 400F
- - - N 2L - o -
- 00 - Ll : LL & 1 N
141.5 S - —4000 p- - | 200

141:IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _IIIIII ||||IIII|IIII|IIII|IIII|IIII I|IIII :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D:III| I|IIII|IIII|IIII|IIII|IIII|IIII|I |III
10000 20000 30000 40000 50000 60000 70000 80000 041 1415 142 142.5 143 143.5 144 1445 145 145.5 146 0 10000 20000 30000 40000 50000 60000 70000 80000 -4000-3000-2000-1000 0 1000 2000 3000 4000
pattern _number yield bcm_an_ds3 pattern_number asym_bcm_an_ds3/ppm

run7805 000 pairTree becm an ds3.png



175

d_bcmuluZ

1170

yiel

165

160

155

150

145

yield_bcm0I02:pattern_number {ErrorFlag==0}

(et

I | | 1

/

o
r

—t

D_

l
20000 30000 40000 50000 60000 70000 80000
pattern_number

o —
e )
L I

run7805 000 pairTree becm0I02.png

10000

8000

6000

4000

2000

yield _bcm0I02 {ErrorFlag==0}

htemp

B Entries 85905

B Mean 170.2

I StdDev  2.973

i | oy Lo b Py I

145 150 155 160 165 170 175
yield bcm0I02

asym_bcm0l02/ppm:pattern_number {ErrorFlag==0}

4000

3000 |-

2000 |-

1000 (L

-
T T I 1 1

|
F—-
F———
} i
} i
} {
} |
—
—
W
—

AN
T

—1000 g7

2000 - |

~3000 |- il

-4000

-5000

]
|
]

(1]

|
p———
p———
I
f [
p———
} [
I [
——
i
l
—

1
A
7]
1T
10}
1
1
L
I | E—
A
Y
AN
Al
AN
: 1
| T
T
I }
1
| T :
| T }
I I
T ]
T }
I ) E—
11
| I
L}

pattern_number

II|IIII|IIII|IIII|IIII|IIII
10000 20000 30000 40000 50000 60000 70000 80000

2500

2000

1500

1000

500

asym_bcm0Il02/ppm {ErrorFlag==0}

PairTree

Entries 85905

Mean 2.474

Std Dev 1275

|
4

000

—2000

0

l
2000 4000
asym_bcmO0I102/ppm



yield_bcm_dg_us

P
=)

P
o

etk SO | | 1T T 1 |

142

141

yield_bcm_dg_us:pattern_number {ErrorFlag==0}

143 (B8

II|IIII|I-

[ 1
60000 70000 80000
pattern_number

II|II
10000

run7805 000 pairTree becm dg us.png

3000

2500

2000

1500

1000

500

yield_bcm_dg_us {ErrorFlag==0}

htemp

Entries 85905
Mean 143.3
Std Dev 0.6922

III|IIII|IIII|IIII| lll

141 142 143 144 145 146
yield bcm_dg us

4000

3000

2000

1000

-1000

-2000

-3000

-4000

DIII

asym_bem_dg_us/ppm:pattern_number {ErrorFlag==0}

iII‘>1:'III

HT T TG 1 1]
[N}
[H)]

1
1
1
1
| %
[]

[
[}
(1]
(K
L]
[
(1K
[
1]
K
LT
Ll
Lb
(K]
1]
[l |
[ ]
i3
i3
i
[l
i
(]
[l i1
1
[H}]
]

}{I I=I

4L _‘_‘-_:{ -4

II|IIII|IIII|IIII|IIII|IIII
10000 20000 30000 40000 50000 60000 70000 80000

pattern_number

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

asym_bcm_dg_us/ppm {ErrorFlag==0}

PairTree
Entries 85905
Mean -0.4777

Std Dev 1350

II|IIII|IIII|IIII|I illll

| | EEEEEN |1
000-3000-2000-1000 O 1000 2000 3000 4000
asym_bcm_dg us/ppm



yield_bem_dg_ds:pattern_number {ErrorFlag==0} yield_bcm_dg_ds { Erro I'Flag ==D} asym_bcm_dg_ds/ppm:pattern_number {ErrorFlag==0} asy m_bcm_dg_dsf ppm { Error Flag == D}

!'.ﬂ- — L]
ol | htemp : PairTree
o 146— N -
= i I 4000 |« ' - N
L 2500 — . C T X _TT 2000~ .
= i i Entries 85905 T IT Tl TIT TT7 _1ETT- T N Entries 85905
P u u 3000 i i T 1800
o 145 - i T - -
o i 2000 Mean 143.4 2000fH | | w l 1600 Mean  -0.4611
1444 I Std Dev  0.7898 1000 || 11 { nL L LA L] L ][] | 1400 StdDev 1347
% Iy 15[]“__ 0EHHE HEHEEBEEARESEHEEE HHHEEERE H oll=|s 12E"‘:l:_
14384 - : I 1 1000
- —1000 F7| ||| ULBHTHHTTRTUTLTL ket .
1000 e ‘ } 1 Uy T T 800~
142 : ~2000 - 1 w 600
- i - 1 - | B
: 1 500l -3000 f- ] - 13 | 400
141 i -1 LI i I -
i I ~4000 (- y 7= 4 200
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D_II III|IIII|IIII|IIII|II I|II :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D:III I|IIII|IIII|IIII|IIII|IIII|IIII|I |III
10000 20000 30000 40000 50000 60000 70000 80000 141 142 143 144 145 146 0 10000 20000 30000 40000 50000 60000 70000 80000 -4000-3000-2000-1000 0O 1000 2000 3000 4000
] pattern_number yield_bcm_dg_ds pattern_number asym_bcm_dg ds/ppm
run7805 000 pairTree becm dg ds.png



5000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym bcm an us/ppm:asym bcm an ds/ppm {ErrorFlag==0}

¥2 [ ndf 183.1/ 81
PO -0.167 + 0.136
p1 1+ 0.0

-4000-3000-2000-1000 O
run7805 000 asym bcm _an us vs asym bcm an _ds pr.png

1000 2000 3000 4000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym bcm an us/ppmiasym becm an ds/ppm {ErrorFlag==0}

-4000-3000-2000-1000 O

1000 2000 3000 4000
asym_bcm_an_ds/ppm

4000

3500

3000

2500

2000

1500

1000

500

0

3 priree

:_ Entries 85905

- Mean  —0.1398

; Std Dev 29.33

S e BTN I B o
2150 100 50 0 50 100 150

asym_bcm an us/ppm-asym_bcm an ds/ppm {ErrorFlag==0}

asym_bcm_an_us/ppm-asym_becm_an_ds/ppm

L 150
"L i =
3 :}{ s b i y
:l . - s = O s s
:|I 100F T = L L H T
- T o s oK U O R T
: O FoA MM AR O R OHOR o
a TRy s 177
i 1
> 90
j -
K HH
3 n
| ;
3 e i
A
: 5ol
) I 11 1L
: ;g“ﬁ“gg"ggxgig“" x;éggﬁgg 1l
% -+ = # o MR OH R -
100 M HoH - A e -+
A =
g s
[ =
.
_-IEU_II||||||||||||||||||||||||||||||II|||II
0 10000 20000 30000 40000 50000 /0000 70000 80000

asym_bem_an_usppm-asym_boem_an_ds/ppmipattern_number {ErrorFlag==0}

pattern_number



asym_bem_an_usppm:asym_bem_an_ ds3/ppm {ErrorFlag==0} asym_bem_an_us/ppmiasym_bem_an ds3/ppm {ErrarFlag==0} asym_bem_an_us/ppm-asym_bem_an_ds3/ppm {ErrorFlag==0} asym_bem_an_usippm-asym_bem_an_ds3pprm-pattern_number {ErrorFlag==0}

= - 150
5000( .z - - : N
12 / ndf 84.94 / 80 - i rTree :
4000 — _ 3500 p g. - P .
4000| pO ~0.1592 + 0.1352 I - I Entries 85905 | 3 px S N S
3000 . - 100[T-2 5% W KK WHX %
+ . _ : - -
3000| P 0-9972  0.0001 : 30001 Mean  -0.1375 | 1 I & 8% &8s B
= N _ - I - xix%:ﬁ{ - ;{5
- 2000 - 2 | T TITTT TIT
EUUD_— - EEUU_— Std Dev 28.62 :| 50H
- 1000 § 3
1000~ - - ; !
- u 2000 - i
- 0 - L LI "
N - N ) i
- ~1000 1500 ! L]
~10001- - i ! !
- - B : B0
N 2000 =
2000 - 1000~ D VELLLLEL LA AL _
- - _ : | Lo sewex }"EM 5K :x:s{g:x}:xg
- -3000— - - | MK X K X HEXX X O S MK O .
~3000F- - _ ) soolL| L X% % W Tw 939595 x|
- —4DDD: 500~ B e X p o x X
—4000— - N i x
_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III _III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III D_IIII III|IIII|IIII|II IIJIl IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-4000-3000-2000-1000 0O 1000 2000 3000 4000 -4000-3000-2000-1000 0O 1000 2000 3000 4000 -100 =50 0 50 100 150 0 10000 20000 30000 40000 50000 60000 70000 80000
asym_bcm_an_ds3/ppm asym_bcm_an_us/ppm-asym_bcm_an_ds3/ppm pattern_number

run7805 000 asym bcm an us vs asym bcm _an ds3 pr.png



5000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym_bem_an_ds/ppm:asym_bem_an_ ds3/ppm {ErrorFlag==0}

¥2 / ndf 192.8/ 80
p0 -0.02575+ 0.10128
p1 0.9962 + 0.0001

-4000-3000-2000-1000 O
run7805 000 asym bcm an ds vs asym bcm _an ds3 pr.png

1000 2000 3000 4000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym_bem_an_ds/ppm:asym_bem_an ds3/ppm {ErrarFlag==0}

“y

3500

3000

2500

2000

1500

1000

500

|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III D

-4000-3000-2000-1000 O

1000 2000 3000 4000
asym_bcm_an_ds3/ppm

asym_bem_an_ds/ppm-asym_bem_an_ds3/ppm {ErrorFlag==0}

priree

Entries

Mean

Std Dev

85905

0.002324

11.89

-60

-40 —20 0 20 40

l
60

asym_bcm_an_ds/ppm-asym_bcm_an_ds3/ppm

)]
-

=Y
-

asym_becm_an_ds/ppm-asym_bcm_an_ds3/ppm

0
20
o | Lowene s wwoew Lw "HSEE"" whew | A
[ WX Y o
% W
N 5
| 5 5
_EUIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
0 10000 20000 30000 40000 50000 60000 70000 80000

asym_bem_an_dsppm-asym_boem_an_ds3ppm:pattern_number {ErrrFlag==0)

(L]
-]
I I

B .

I .
s e A . A

i o s . g A
HEE HoH MEAEH A EA A e T

FEATT A T T §}{}{}{ T X TR MM R

pattern_number




asym bcm dg us/ppmiasym bcm dg ds/ppm {ErrorFlag==0} asym bcm dg us/ppmiasym becm dg ds/ppm {ErrorFlag==0} asym bcm dg us/ppm-asym_bcm dg ds/ppm {ErrorFlag==0} asym_bem_dg_us/ppm-asym_bem_dg ds/ppmipatiern_number {ErrarFlag==0}

5000| .2 - - - i
%2 / ndf 178.9/ 81 : 2 rTree :
4000 4000¢ P ; 300F x ;
4000/ PO —0.1387 £ 0.2336 : - Entries 85905 b x x L
1 1+ 0.0 3000 3500~ ?; o xx X XXX X XXXX X %
3000| P t0. : : Mean  ootess | 200855 3 % 335y U B b
n - - 3 Rﬁ% TT TTTTHTRXX % x—-x%%g@g %%
n 2000 3000 g 11T i TITTTTTTS ETITTTTT |7
2000 C - StdDev  62.89 : [
- 1000 - y 1001
1000 - EEDD:— : :
B o - :':: N
o | - oH A e o o
. - - | !
N —1000— - > I
—1000 5 - 1500— El 100
2000F- ~2000F : b L LELLLELL LOHL L L
: : 1000 L 00l T kR BAESE 5
N -3000 - 2 *% HoOHM REXX MXEXX KK X x%:ﬁ: Exx X
-3000— N - [ XX X MM xR S R
- - SDD__ i‘-_ﬁ}}::i}{ }{}}E HooX X X X i}i i}i
- - - | %
4000 ~4000 u _ -300— ~#
_|||||||||||||||||||||||||||||||||||||||II|||I _||||||||||||||||||||||||||||||||||||||||||||||| D_Illll_l-. ||||||||||||I|III |_|_||||| _||||||||||||||||||||||||||||||||II|IIII
-4000-3000-2000-1000 0 1000 2000 3000 4000 -4000-3000-2000-1000 0 1000 2000 3000 4000 00 -200 -100 0 100 200 300 0 10000 20000 30000 40000 50000 60000 70000 80000
asym_bcm_dg_ds/ppm asym_bcm_dg us/ppm-asym_becm_dg_ ds/ppm pattern_number

run7805 000 asym bcm dg us vs asym bcm dg ds pr.png



5000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym_bem_dg_usppm:iasym_bem_an_ ds3/ppm {ErrorFlag==0}

¥2 / ndf 111.7 /80
p0 -0.02844 + 0.22044
p1 0.9992 + 0.0002

-4000-3000-2000-1000 O

1000 2000 3000 4000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym_bem_dg_ us/ppmiasym_bem_an ds3/ppm {ErrarFlag==0}

-4000-3000-2000-1000 O

1000 2000 3000 4000

asym_bcm_an_ds3/ppm

run7805 000 asym bcm dg us vs asym bcm _an ds3 pr.png

4000

3500

3000

2500

2000

1500

1000

500

asym_bem_dg_us/ppm-asym_bem_an_ds3/ppm {ErrorFlag==0}

: priree

: Entries 85905
Z_ Mean —0.00249
— Std Dev 58.38
:l I | | | L1 1 | | I | | 1 1 |_I L1 1 | 1

-300 -200 -100 0 100 200 300
asym_bcm_dg_us/ppm-asym_bcm_an_ds3/ppm

300~
i . . .
K - - o -
s - e . -

[ HUE A 2 - HH §}{}{ -
OB o MBS BRE K
100+

-100 -
oo od ppad B B8 K
200 b X }{gx}: KR WAk T xk X
B - s MR A FRK #
e . L A MM e

B . - - .

= o

B o o

-300—
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
0 10000 20000 30000 40000 50000 60000 70000 80000

asym_bem_dg_usppm-asym_bom_an_ds3ppm:pattern_number {ErrrFlag==0)

pattern_number



5000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym bcm dg us/ppm:asym bcm an ds/ppm {ErrorFlag==0}

%2 / ndf 115.2 / 81
p0 —-0.008676 + 0.221684
p1 1.002 + 0.000

-4000-3000-2000-1000 O 1000 2000 3000 4000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym bcm dg

us/ppm:asym_bcm_an_ds/ppm {ErrorFlag==0}

-4000-3000-2000-1000 O

run7805 000 asym bcm dg us vs asym bcm _an ds pr.png

1000 2000 3000 4000

asym_bcm_an_ds/ppm

4000

3500

3000

2500

2000

1500

1000

500

-

asym bcm dg

us/ppm-asym_bcm an ds/ppm {ErrorFlag==0}

2 priree

: Entries 85905
E_ Mean -0.004814
;_ Std Dev 59.21
Tl A N AT A i A
-300 -200 100 0 100 200 300

asym_bcm_dg us/ppm-asym_becm_an_ds/ppm

asym_bem_dg_usippm-asym_bem_an_ds/opm:pattern_number {ErrorFlag==0}

1

y 300 =

3 b ¢ % % %

| o ¢
% ¢ x % MK XM

; e x WO KM %% X Exx x

1200 b e m HBH NN N X ORHHN % o~

- g X% XK MK %H%Mk% KM%EKKE xé %

L BTTT TR OTTITOENTR eSS R &

S 100
, [

Y
o
I
— —
— —
1) —
o —
T —
Y —
w
—— O _+——
1 —
1
—1 —
' Y — |
: 1 —
i —
1 —
I——
i —
I —
I —
() —
1
I f
— —
[ —
L1
01
®
I {
L 0 &%

© 100 f-
b
| Tl [& Lol [t Ielglg]] 248 [
. viviwt et L xxgﬁgk§ %g%ggxx %% % ¥
200 xx g xRk e Ex SRk % X
L % 3255 5 RRxTRK x
< MK
x wx O Tk XXX
- x
i x x
_BDU_|||||||||||||||||||||||||||||||||||||||
0 10000 20000 30000 40000 50000 60000 70000 80000

pattern_number



5000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym bcm dg ds/ppmiasym bcm an us/ppm {ErrorFlag==0}

v2 [ ndf 107.3/ 79
p0 0.1706 + 0.1839
p1 0.9999 + 0.0001

-4000-3006-2000-1000 O

1000 2000 3000 4000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

asym

bcm dg ds/ppm:asym_bcm_ an us/ppm {ErrorFlag==0}

nl
-3

4000

3500

3000

2500

2000

1500

1000

500

|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III D

-4000-3000-2000-1000 O

run7805 000 asym bcm dg ds vs asym bcm _an us pr.png

1000 2000 3000 4000
asym_bcm_an_us/ppm

asym bcm dg ds/ppm-asym_bcm an us/ppm {ErrorFlag==0}

3 priree

; Entries 85905

E_ Mean 0.1516

- StdDev  46.43

SR D i R R RN B SVUTEN EVREY
200  -100 0 100 200

asym_bcm_dg ds/ppm-asym_becm_an_us/ppm

. =
2008 * “ ;,}E »
— M oM O s R O .
[ O MO HEE oW MK OME HOEHOE K s .
5 B sk SO o o
100
ot PR R o
—100 X
ook 3% S SREERER SRSy KBl &
b, = A A HHE K KK s =
[, 3 = A A e L s =
H_}{ H K O S }{§
—EDD_ o o o
_I | 11 | L 111 | L 111 | L 111 | L 111 | L 111 | L 111 | L 111
0 10000 20000 30000 40000 50000 60000 70000 80000

asym_bem_dy_dsippm-asym_bem_an_usjopmipatiern_number {ErmorFlag==0}

pattern_number



